Examples Chapter 6
1. Students who have completed a speed reading course have reading speeds that are normally distributed with a mean of 950 words per minute and a standard deviation equal to 220 words per minute.  Based on this information, 
a. what is the probability of a student reading at more than 1400 words per minute after finishing the course?
b. What is the probability a student reading between 900 and 1350 words per minute after finishing the course?
2. The makers of Sweet-Things candy sell their candy by the box.  Based on company policy, the mean target weight of all boxes is 2.0K.  To make sure that they are not putting too much in the boxes, the manager wants no more than 3 percent of all boxes to contain more than 2.10K of candy.  In order to do this, what should the mean fill weight be set to if the fill standard deviation is 0.13 pounds?  Assume that the box weights are normally distributed.
3. It is assumed that the time customers spend in a record store is uniformly distributed between 3 and 12 minutes.  Based on this information, what is the probability that a customer will be exactly 7.50 minutes in the record store?
4. It is assumed that the time failures for an electronic component are exponentially distributed with a mean of 50 hours.  Based on this information, what is the probability that a randomly selected part will fail in less than 10 hours?  
5. The transportation manager for the State of New Jersey has determined that the time between arrivals at a toll booth on the state’s turnpike is exponentially distributed with 
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= 4 cars per minute.   Based on this information, what is the probability that the time between any two cars arriving will exceed 11 seconds?
6. The binomial distribution is frequently used to help companies decide whether to accept or reject a shipment based on the results of a random sample of items from the shipment.  For instance, suppose a contract calls for, at most, 25 percent of the items in a shipment to be red.  To check this without looking at every item in the large shipment, a sample of n= 70 items is selected.  Use the normal approximation to find the following probabilities
a. 
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